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He did not manage to give it until he dyed it; he is exempt

OVERVIEW

The mwn in 137 NWRA P9 states that one is obligated to give (2°¥%0 wnn Ppwn) from
the first shearing of the sheep to the j72 provided that (at least) five sheep were
shorn. If he dyed the wool before he had the opportunity to give it to the 172, then
he 1s M5 from 727 N*WXA and he may keep the wool for himself. NMdo1n will discuss
some of the details in this ruling.
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Even if he sheared the required amount of five sheep together (in which case)
there lies upon him the obligation of giving the first shearing to the 773,

nevertheless he is exempt from giving it to the 173 if he dyed the wool -
= DNIPA NDMSNT NN 1) (ow) x,78 97 0pY) NP SN YL INIYUNTS

As we find in the beginning of X»p %137 P75 concerning 182, that the proper

observance of X M¥n is to set it aside by the standing (non-harvested) grain; 7x%°®

should be set aside from (standing) non harvested grain -
= 9109 NP MY 9INT INPY NNNYIYVIY

And if this grain changed and was made into dough (before the owner set aside
%' from it), then according to the one who maintains that »>w is 72 , he is

MWD from setting aside 71X’ from the dough; no 7X°2 needs to be given at all (since it changed
from the original grain which was 27111 in 7X°0). Here too even if there was already a 21’17 to give
the 177 N°wXRA to the 175 (since five sheep were shorn), nevertheless if there was the "11w of 1wax
he is MWd (if we maintain 7P "W).

nvoIn asks:
= 9109 1yaNy 3]1\')24‘1 1 2000 2Nt N MINN ON)

And if you will say; that which the X713 there cites a Xn>72 which states, ‘if he

shore the first sheep and dyed its wool he is 215 from 17 nwx" -
- 313) 115 991 1PN PYUNA PYNI NIIN INI

Why does the X172 mention PM2RY PWKY, indicating that he dyed each shearing
of wool after it was shorn (before the next sheep was shorn [when there was not

! See the mwn in X,7%p 7210 that 7"2 maintain that the 27 of 137 WX is only when five 0°n7 were shorn.
23,38 1pY. The Xn™12 reads A0¥A PR 191 WA PWRI PR 112
? The n"3 amends this to read NWRI PR (as it is cited in the Xn>12).
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yet a 211 of 17 N°wX1])? Even if he dyed all the shearing together (where there

already was the 2111 of 127 nWX, nevertheless] it is also 2WB! (As moon has just
indicated and proven from 1X>2.)

Nv0IN answers:
= 28 XDV N 129N NV NEPN NN NYPN YaN 129X DNNT 91217 U

And one can say; that (in the Xn>12) there, even if he dyed part of the wool and
he left out part of the wool (which he did not dye), he is mw® from 137 N°WXA, even

for the amount that he did not dye -
- ‘99081 PRY 1999 120 YN 2190 1YY YN RYY

For the obligation of 137 nwx1 never fell upon it, since the amount that was

shorn is not combined with other shearing (for it was less than five o°717) -
- 509 1919 IWAY NPYT 135 15PN AN MWW 1AW NN YN

However here when initially the proper amount was shorn and he was

obligated to give it to the 7712, he is exempt only if he dyed it entirely (the shearing

of all the five sheep) -
$2N1) 925V NPV 12 PRY 3D DY AN 29N NNNY NN NYPN NN YaN

However if he left out part of the wool and did not dye it, then he is obligated to
give the non-dyed wool to the 173, even if it does not have the proper amount
(the non-dyed wool is less than five sheep worth of wool), for he was already

obligated to give the wool after the shearing. Therefore the wool that was dyed is exempt for
he was 7117 it through 1w, however, the wool that was not dyed retains its original 21°11 and must
be given to the .0

SUMMARY

If less than five sheep were shorn (consecutively) and part of the wool was dyed,
the owner 1s Mo from giving even the non-dyed wool to the 172. If (at least) five
sheep were shorn before the dyeing process began than any non-dyed wool (up to
D°%pw nwin) must be given to the 3715 for 137 NWRA.

THINKING IT OVER
Let us assume that the My°w of wool for five sheep, from which 17 n>wXA is to be
taken, is seven and a half 73n.° What would be the ruling in the case of WX 1A

* See “Thinking it over’.

3 If the non-dyed wool (is less or) equals the amount that should be given (2°v?0 wnn 2pwn), then he gives it in its
entirety; however if the non-dyed wool exceeds the amount to be given, he need give only that amount that is required.
®See [1X 1"7 2,2 W] R,7T9P PN
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WX NWXI; however he was y21X only partially, and the remaining amount which
he was not ¥21¢ (from five sheep or more) equals the 7w of seven and a half 71n;
1s he 17 n>wX72 271771 or not?
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